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CRPSOHWH DOO RI WKH IROORZLQJ SUREOHPV WR WKH EHVW RI \RXU DELOLW\. EQVXUH WKDW \RX VKRZ DOO RI \RXU ZRUN, LQFOXGLQJ WKH 
IRUPXOD XVHG DQG WKH VXEVWLWXWLRQ RI QXPHULFDO YDOXHV. WULWH OHJLEO\, DQG PDNH VXUH WKDW \RXU QDPH LV RQ WKLV VKHHW. II 
\RX KDYH DQ\ TXHVWLRQV, SOHDVH UHIHU WR \RXU QRWHV RU FKDSWHU IRXU RI \RXU WH[WERRN. GRRG OXFN! 
 
YRX PD\ ILQG WKH IROORZLQJ IRUPXODV DQG FRQVWDQWV XVHIXO: 
 

T 1

P 1 =
T 2

P 2  

760.000 PPHJ = 101.325 NPD = 1.00000 DWP 
1000 PL = 1.000 L 

  
1. A VDPSOH RI JDV DW LQ D WDQN LV FRROHG IURP 240C WR 0C. WKDW LV WKH ILQDO.65 PPHg1 × 102  

SUHVVXUH LQVLGH WKH VWHHO WDQN? 
 
 
 
 
 
 
 

2. II D JDV LQVLGH D FORVHG FRQWDLQHU LV SUHVVXUL]HG IURP 15 DWP WR 16 DWP DQG LWV RULJLQDO 
WHPSHUDWXUH LV 25C, ZKDW LV WKH ILQDO WHPSHUDWXUH? 

 
 
 
 
 
 
 
 

3. A 28.4 L VDPSOH RI QLWURJHQ LQVLGH D ULJLG, PHWDO FRQWDLQHU DW 51C LV SODFHG LQVLGH DQ RYHU 
ZKRVH WHPSHUDWXUH LV 254 C. TKH SUHVVXUH LQVLGH WKH FRQWDLQHU DW 51C ZDV 2.7 DWP. WKDW LV 
WKH SUHVVXUH RI WKH QLWURJHQ DIWHU WKH WHPSHUDWXUH LV LQFUHDVHG? 
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4. II D JDV LV FRROHG IURP 323.0 K WR 273.15 K DQG WKH YROXPH LV NHSW FRQVWDQW. WKDW ILQDO 
SUHVVXUH ZRXOG UHVXOW LI WKH RULJLQDO SUHVVXUH ZDV 750 PPHJ? 

 
 
 
 
 
 
 
 
 

 
5. A JDV KDV D SUHVVXUH RI 699.0 PPHJ DW 40.0C. WKDW LV WKH WHPSHUDWXUH DW VWDQGDUG 

SUHVVXUH? 
 
 
 
 
 
 
 
 
 

6. DHWHUPLQH WKH SUHVVXUH ZKHQ D FRQVWDQW YROXPH RI JDV DW 1.00 DWP LV KHDWHG IURP 20.0 C WR 
30.0 C.  
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